GRE Verbal Reasoning Test-7, 2024
] Time Allowed : 1 Hour 58 Minutes \ Maximum Marks : 340 \

General Instructions

Read the following instructions very carefully and strictly follow them:

1. There is no penalty for incorrect answers on the Verbal Reasoning and
Quantitative Reasoning sections. This means you should always answer every
question, even if you have to guess.

2. Within any section of the test, you can mark questions you want to review and
change your answers as long as the time for that section has not expired.

3. The Analytical Writing section is always presented first. The Verbal Reasoning
and Quantitative Reasoning sections may appear in any order after the essay.

4. The test is taken on a computer, and test-takers are provided with scratch paper
or a small whiteboard for notes.

5. The Quantitative Reasoning section includes an on-screen calculator.

6. There are no breaks during the test. Leaving your seat at any point will not stop
the timer for the current section.

1. Passage: Modern advancements in renewable energy sources have led to significant im-
provements in reducing carbon emissions. Solar and wind energy are now being widely adopted
as sustainable alternatives to fossil fuels. However, there are concerns about the reliability of
these energy sources and the initial costs of implementation.

Question: What is one concern mentioned in the passage regarding the use of renewable
energy sources?

(A) They are too expensive to implement.

(B) They cannot reduce carbon emissions.

(C) They may increase the use of fossil fuels.

(D) They lack technological advancement.

2. Passage: The growing popularity of urban gardening has provided city dwellers with
fresh produce and a connection to nature. However, challenges such as limited space and
pollution pose significant obstacles. Encouraging community gardens and rooftop farms can
help overcome these challenges and promote sustainable living.

Question: According to the passage, what is one challenge faced by urban gardening?

(A) Excessive sunlight

(B) Lack of interest

(C) Limited space

(D) Overabundance of produce



3. Passage: Online education has revolutionized learning by providing access to quality
education for students worldwide. It offers flexibility and a variety of courses that traditional
classrooms cannot match. However, the lack of face-to-face interaction and the potential for
distractions at home are significant drawbacks.

Question: What is one drawback of online education mentioned in the passage?

(A) Lack of flexibility

(B) Limited course variety

(C) Lack of face-to-face interaction

(D) Excessive costs

4. Passage: Electric bikes (e-bikes) are becoming increasingly popular as an eco-friendly trans-
portation option. E-bikes offer the benefits of traditional cycling with added motor assistance,
making them suitable for longer commutes and challenging terrains. However, safety concerns
and the need for proper infrastructure remain significant issues.

Question: According to the passage, what is one issue related to the use of e-bikes?

(A) Lack of motor assistance

(B) Excessive weight

(C) Safety concerns

(D) High fuel consumption

5. Passage: Artificial intelligence (Al) is transforming customer service by providing instant
responses and personalized experiences. Al-powered chatbots and virtual assistants can handle
numerous customer inquiries simultaneously, improving efficiency. Nevertheless, the lack of
human empathy and understanding remains a limitation.

Question: What is one limitation of Al in customer service mentioned in the passage?

(A) Limited efficiency

(B) Lack of human empathy

(C) High operational costs

(D) Inability to personalize experiences

6. Passage: Organic farming practices are gaining traction as consumers become more health-
conscious. These practices avoid the use of synthetic pesticides and fertilizers, promoting
healthier and more sustainable agriculture. However, organic farming can be labor-intensive
and yield lower productivity compared to conventional methods.

Question: What is one challenge of organic farming mentioned in the passage?
(A) Excessive use of synthetic pesticides

(B) High productivity

(C) Labor-intensive practices

(D) Poor soil health




1. Question: The new initiative was by the local government, but it was
by environmental groups who believed it would benefit the community.

(A) opposed

(B) implemented
(C) rejected

(D) endorsed
(E) celebrated
(F) criticized

2. Question: The scientist’s groundbreaking research was for its innovative
approach, yet it was for its controversial conclusions.
) ignored

) lauded
) dismissed
)

D) praised
E) criticized
F) welcomed

(A
(B
(C
(
(
(

3. Question: The new policy was by industry leaders for its forward-thinking
measures, but some sectors found it due to the significant changes it required.
) welcomed

(A

(B) criticized

(C) lauded

(D) implemented
(E) celebrated
(F) opposed

1. Question: The CEQO’s attitude during the meeting made employees feel
and concerned about the future of the company.

[Note: Select 2 answer choices]

supportive

A)
B) mdlﬂerent
C)

3. Question: The professor’s lecture was so that it left the students both
and eager to delve deeper into the subject.

[Note: Select 2 answer choices]

(A) tedious

(B) compelling




(
(D) engaging
(E) enlightening
(F) baffling

C) confusing
)

1. Passage: The field of nanotechnology involves manipulating matter at the atomic and
molecular scale to create new materials with unique properties. Nanotechnology has applica-
tions in medicine, electronics, and environmental science. However, there are concerns about
the potential health and environmental risks associated with the use of nanomaterials, which
are not yet fully understood.

Question: What is one concern mentioned in the passage regarding the use of nanotechnology?
(A) Nanotechnology lacks applications in medicine.

(B) Nanotechnology is too expensive to develop.

(C) Nanotechnology may pose health and environmental risks.

(D) Nanotechnology cannot create new materials.

2. Passage: The study of dark matter is one of the most intriguing areas of astrophysics. Dark
matter is believed to make up about 27% of the universe, yet it cannot be directly observed.
Scientists infer its existence from its gravitational effects on visible matter. Despite extensive
research, the exact nature of dark matter remains a mystery.

Question: According to the passage, what is one way scientists infer the existence of dark
matter?

(A) By observing its chemical composition.

(B) By detecting its light emissions.

(C) By studying its gravitational effects on visible matter.

(D) By measuring its temperature.

3. Passage: Blockchain technology, initially developed for cryptocurrencies, is being explored
for various other applications, including supply chain management, healthcare records, and
voting systems. The decentralized and transparent nature of blockchain can enhance security
and reduce fraud. However, the technology faces challenges such as scalability issues and high
energy consumption.

Question: What is one challenge mentioned in the passage regarding blockchain technology?
(A) Blockchain lacks applications in healthcare.

(B) Blockchain is centralized.

(C) Blockchain faces scalability issues.

(D) Blockchain is not secure.




4. Passage: The human brain’s ability to adapt and change in response to experience is
known as neuroplasticity. This remarkable capacity allows for learning, memory formation,
and recovery from brain injuries. Research into neuroplasticity has led to new treatments for
neurological conditions, but there is still much to learn about the underlying mechanisms.

Question: What is one benefit of neuroplasticity mentioned in the passage?
(A) It prevents brain injuries.

(B) It allows for recovery from brain injuries.

(C) It hinders memory formation.

(D) It limits learning capacity.

5. Passage: The development of renewable energy technologies is crucial for addressing climate
change. Solar and wind power are leading the way, but energy storage remains a significant
hurdle. Batteries and other storage solutions are needed to ensure a stable energy supply when
renewable sources are not generating power. Advances in this area are essential for a sustainable
energy future.

Question: What is one challenge mentioned in the passage regarding renewable energy tech-
nologies?

(A) Renewable energy technologies are too costly.

(B) Energy storage solutions are needed for stability.

(C) Renewable energy technologies are fully developed.

(D) Solar and wind power are insufficient for addressing climate change.

6. Passage: The rapid advancement of artificial intelligence (AI) has led to significant break-
throughs in machine learning, natural language processing, and robotics. Despite these ad-
vancements, there are ethical and societal concerns about the impact of Al on privacy, em-
ployment, and decision-making. Ensuring responsible Al development is crucial for mitigating
these concerns.

Question: What is one ethical concern mentioned in the passage regarding artificial intelli-
gence?

(A) Al advancements are too slow.

(B) AI does not impact employment.

(C) Al may affect privacy and decision-making.

(D) AT lacks breakthroughs in machine learning,.

7. Passage: Climate change is accelerating the melting of polar ice caps, which contributes to
rising sea levels and the loss of habitat for polar species. This phenomenon also affects global
weather patterns, leading to more extreme weather events. Efforts to mitigate climate change
include reducing greenhouse gas emissions and protecting vulnerable ecosystems.

Question: According to the passage, what is one consequence of the melting polar ice caps?



(A) Decreased sea levels.

(B) Stabilized weather patterns.

(C) Loss of habitat for polar species.
(D)

D) Reduced greenhouse gas emissions.

8. Passage: The implementation of big data analytics in healthcare has the potential to
improve patient outcomes by enabling personalized medicine and more accurate diagnoses.
However, there are significant challenges related to data privacy, security, and the integration
of disparate data sources. Overcoming these challenges is essential for realizing the full benefits
of big data in healthcare.

Question: What is one challenge mentioned in the passage regarding the use of big data in
healthcare?

(A) Big data lacks potential for improving patient outcomes.

(B) Big data ensures data privacy and security.

(C) Integrating disparate data sources.

(D) Big data does not enable personalized medicine.

1. The politician’s speech was for its inspirational message, yet it
was also for its lack of concrete policy proposals.

(A) celebrated
(B) dismissed
(C) praised
(D)
(
(

criticized
E) condemned
F) questioned

2. The new product launch was by consumers for its innovative
design, but it was by experts who doubted its practicality.

(A) lauded

(B) dismissed

(C) celebrated

(D) condemned

(E) embraced

(F) questioned

3. The author’s novel was by readers for its engaging plot, yet it
was by critics for its predictable ending.

(A) praised

(B) condemned




(C) celebrated
(D) criticized

(E) overlooked
(F) questioned

4. The city’s decision to build more parks was by residents for
improving quality of life, but it was by developers who saw it as a
misuse of valuable land.

) applauded

) supported
) opposed
)

D
E) embraced

(A
(B
(C
(
(E)

(F) denounced

1. The professor’s lecture left the students both and
eager to delve deeper into the subject.
[Note: Select 2 answer choices]
A) baffling
enlightening

(

(B)

(C) confusing
(D)

(

(

D) illuminating
E) inscrutable
F) stimulating

2. The novel’s protagonist was both and engaging,
capturing the readers’ attention from start to finish.

[Note: Select 2 answer choices]

) dynamic

) bland

) inspiring

) mundane

E) compelling
F) ordinary

(A
(B
(C
(D
(
(

3. The startup’s approach to problem-solving was viewed as both
and risky by potential investors.
[Note: Select 2 answer choices]




A) conventional
B) innovative
C) cautious
D) bold

E) timid

F) visionary

(
(
(
(
(
(




